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GCF and LCM Word Problems

How can you determine if you must find the GCF or the LCM in order to solve a word problem?

GCF and LCM word problems are similar in that they BOTH involve multiplication and division
Remember…
· Factors are two numbers that multiply together to arrive at a certain product

· A number can be evenly divided by its own factors

· Multiples are the products in multiplication equation.  So, when two factors are multiplied together the answer is a multiple of those factors.

However, word problems that require finding the GFC are very different than those requiring the LCM.

	GCF
	LCM

	Factors break down a given number or numbers

A GCF word problem may require that two or more numbers are:

· evenly split apart requires factors

· broken apart evenly or equally

· arranged in equal rows or groups

SOMETIMES, you may be able to find a key word

· Greatest

· Maximum

· Most

· Largest

· Biggest
	Multiples make a given number larger.

Multiples = More

A LCM word problem may require you

· purchase an equal amount of items that come in packages of different sizes

· find a time where two events occur at the same time

· determine when an event will occur at the same time

SOMETIMES, you may be able to find a key word

· least

· smallest

· minimum


[image: image1.png]Samantha has two pieces of cloth. One piece
is 72 inches wide and the other piece is 90
inches wide. She wants to cut both pieces
into strips of equal width that are as wide as
possible. How wide should she cut the strips?

* What do I need to find out?

How wide should she cut the strips so that they
are the largest possible equal widths.




[image: image2.png]* What is my plan?

‘This problem can be solved using Greatest
Common Factor because we are cutting or
“dividing’ the strips of cloth into smaller picces
(Factor) of 72 and 90 (Common) and we are
looking for the widest possible strips (Greatest).




[image: image3.png]Ben exercises every 12 days and Isabel
every 8 days. Ben and Isabel both
exercised today. How many days will it
be until they exercise together again?

* What do I know?

Ben exercises every 12 days and lsabel every 8 days
and they both exercised today.

* What do I need to know?

How many days isit until they will both exercise on
the same day again.
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“This problem can be solved using Least Common
Multiple because we are trying to figure out
when the soonest (Least) time will be that as the
event of exercising continues (Multiple), it will
occur at the same time (Common).




